OO0 gupiaozhishiba.com

Jbobogtdbobotgtdbbotgtdbbootdbotdyn-
HREEN

Joooogogododod

Jobodobboobouoboboobouobobooood
Joboggoboobouoboboood
oogobouogoobd

Jogbgbooguogognd

Jobgobbooboobbooobooobuoooboon
ooogoogd
obogobbooobtoobboobobtoobuobboobuobbooboua
goad
ogdoobbuodggoooobudooooobbuooooooon
oddobobbudggoobbbooooooobbbuooooobbod
0

bbbt boobouoboboooga
oo

oogoougobd
Jobogobobooobooobouobobboobouobboobouoboboooga
[
Joogobboooboobuobobtoobuobboobuobboooga
ooon

obgobbooobooobboobobgd
Joddobbbuggooobbuooooooobbgoooooobbod
HEN

goodg

oo boobuoboboonogao
ERERN

oot btobouobboobuobboooga
oougoogd

0o1/5



OO0 gupiaozhishiba.com

oot otdbootdbnd

Joodoobbobooooobbuggaad

bbb oobuoboboobouoobd
bbbt boobouoboboooga
Jobdgbuooboobougbobuooogd
Jobodoboboobtoobuobbbobuobboobuobbooboga
ooogo

Jobogobuooobtoobooobbooon
Joogobbooobooobuoobobgd
Joogobbooobotoobuoobobgd
Jobgobbooobooobboobbotoobuobboobuobboon
Jogdobbbbogoooooobogoooag
Jogoobbbbogoooooobogooag

Joooooogogd

000000000 0000000OO=1000+1000%10%*5=150001 [0 [0 8% 0 O [
0000000 =1500/(1+8%)5=1020.881 J OO O O 11 =1020.88*100000] O OO0 OO0 O [T
00000 =1000*10%=1000 [0 OO O O O =100/(1+8%)+100/(1+8%)"2+100/(1+8%)"3
+100/(1+8%)”4+100/(1+8%)"5+1000/(1+8%)*5=1079.8501 I O O O =1079.85*10000L]
000000000 0O=1000710%/2=00 D 0000008t odooooon
0 04%0 0 O 0O 0O =50/(1+4%)+50/(1+4%) " 2+50/ (1+4%) "~ 3+50/ (1 +4%) N 4+50/ (1+4%
)N5+50/(1+4%)N6+50/(1+4%)N7+50/(1+4%)8+50/(1+4%)9+50/(1+4%)10+1000/(1
+4%)710=1081.110 0O O 0 0 =1081.11*10000

obbogotdbotdbtboobobotgbotdbtdboobgn
Joogg

Juobdgouoobooouoougon
bbbt oobuoboboonoga
bbb oobouobobogoon

oo2/5



OO0 gupiaozhishiba.com

Jobodgbouooboobougoougoogd
bbbt boobouoboboooga
oo
Jobodoboboobtoobuobbbobuobboobuobbooboga
Jobogobobooobooobouobobboobouobboobouoboboooga
Jobogooboooboobuoboboobuobboobuobboobogao
googd

Jougodoboobotdobobgo?diiioeeot tdnion
0O 0O 8%.

0000000000000 * 1010010000 0000000
N00000000000000 10000

P=1000*8%*(P/AL] 8%0] 10)+1000*(P/SC] 8% 10)
N0000000000000000000
+0000000000000000

+0000000000000

N0000000000

10000 00 0000000000000000000000011300000

gobbogodgbotuodod

000000=0000*0P/FOI0n0+0000*0000*0P/AD IO nd
0 0 0 O =15000*10%(p/aC] 15%01 10)+15000*(p/f0 15%0] 10)
=15000*10%*(1-(1+15%)"(-10))/15%-+15000*(1+15%)"10 =68211.52

goodootdbootdbg

Juobdgouoobooouoougon
bbbt oobuoboboonoga
bbb oobouobobogoon

0oo3/5



OO0 gupiaozhishiba.com

Jobodgbouooboobougoougoogd
bbbt boobouoboboooga
oo
Jobodoboboobtoobuobbbobuobboobuobbooboga
Jobogobobooobooobouobobboobouobboobouoboboooga
Jobogooboooboobuoboboobuobboobuobboobogao
googd

gogboogotdbotgbogbon

10gobboobobuoboboobbooobod
ogdoobbbotg2u0bobogoogbbuoooooobbuooaoog
Jodgdobbbggzoesbiodsyguuooyiginonibngoodnoood
godad

Jobougobooougon

Jobodgboboooooouoon

ool dooooobliowdiooooobooooooooooon
% Uiuuouonoooooooooogn
ogduobibobodo%uouoboboooouobboooouooon
Joooobuooobooogd

oo onwuoooooon
oogobouooobgoon

Oogn

Dooooooo00doonn.pdf
Joogooooiooioogonn

ool
Jooaooooooooon
Jooooooooooin
Jooaooooooooin
D0000oododooann.doc
Jooooopooooooooooooi..,

0o4/5


/neirong/TCPDF/examples/output.php?c=/article/75607747.html&n=如何确定债券的发行价格.pdf
/author/8049.html
/book/8135.html
/book/8464.html
/read/8824.html
/read/9097.html
/neirong/TCPDF/examples/output.php?c=/article/75607747.html&n=如何确定债券的发行价格.doc
https://www.baidu.com/s?wd=%E5%A6%82%E4%BD%95%E7%A1%AE%E5%AE%9A%E5%80%BA%E5%88%B8%E7%9A%84%E5%8F%91%E8%A1%8C%E4%BB%B7%E6%A0%BC

OO0 gupiaozhishiba.com

ERERN
oboggobogon
Jooggobooboogobgd

https.//www.gupiaozhishiba.com/article/75607747.html

0os5/5


https://www.gupiaozhishiba.com/article/75607747.html
http://www.tcpdf.org

